St Denys Primary School

Spellings and Times Tables

Week beginning:
th
_ 15" June 2020 -

Creativity, Choice, Challenge
Achievement for All




Year 5 - School Closure - Home Learning

Whilst we are not expecting you to replicate school at home, it will
be important that you all try to do some work each school day to
keep your skills up.

And don't forget to stay active!

As you will already know, schools are not yet open for Year 5
children. Here are your new spelling words and daily challenges for
Time Table Rockstars.

There is also a Y5/Y6 joint work booklet that you will be able to
collect from the school foyer each Monday. This booklet will also be
available to download on our school closure webpage.

Each morning I will still be saying 'Hello' on the Class Story page on
the Class Dojo app. You'll also be able to ask me any questions or
just tell me about what you have been up to! As I will be in school,
remember I might not be able to respond straight away. You will
still be able to post things to your Class Dojo portfolio but it might
not always be me who approves and leaves comments for you.

We will keep you informed if there are any changes to any of this.

Mr Baker




Practice Sheet
Term 3 Set 2 Week 7

Spelling patterns homophones and near-homophones, extension

Of course | didn’t steal the
money! | found it on the floor
under the desk.

Spellings
desert

Write Cover and write Cover and write

dessert
flaw
floor

steal

steel
bored
board
draft
draught

Total /10
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Activity Sheet

Term 3 Set 2 Week 7

Match the dictionary definition to
the correct homophone.

father/farther led/lead desert/dessert past/passed
band/banned baron/barren flaw/floor currant/current

Officially, not allowed to do something .....................

A waterless desolateareaofland .....................

A small dried fruit .....................

Moved beyond something in a specified direction .....................

Atypeofmetal .....................

An adverb to describe a greater distance .....................

A member of the British nobility .....................

A markorablemish .....................

The sweet course to finishameal .....................

Describes land without any vegetation .....................

A flat, thin loop of material .....................

The pasttenseoflead .....................

A flow of water, air or electricity .....................

The time before the moment you are speakingof .....................

The surface on whichyouwalk .....................

A man with children .....................

&)
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Activity Sheet

Term 3 Set 2 Week 7

Match the dictionary definition to
the correct homophone.

heard/herd bridal/bridle

aloud/allowed cereal/serial bored/board pause/paws

steal/steel  foul/fowl

Of or concerningabride ................

A bird kept foritseggsortoeat ........

A drama appearing in regular instalments .....................

A hard, strongmetal .....................

Permitted someone to have or do something .....................

Feeling weary in one’s current activity
Ananimal'sfeet .....................

Listened to what someone had to say

To take another person’s property without permission .....................

The headgear used to control a horse

A long, thin, flat piece of wood .........
An unfair piece of play in sport .........

A large group of animals ................

A temporary stop to the action ........

A breakfast food made from grain ...

Describes an audible voice ..............

o
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Homophones 3

Can you find each of the spelling words in the word search?

UDEROB FOEF
FNDTNADSLT
PTRDERTAGH
CRAMEDWYQG
CEFMZSPIJSU
WSTEALELTIA
KSIGUHERXR
JEVIBQAETD
LDRAOBVKTO
ROOLFWHBRS
DESERT DESSERT
FLAW FLOOR
STEAL STEEL
BORED BOARD
DRAFT DRAUGHT




Name: Week 3 Session 1

Times Tables 2,3,4,5,6,7,8,9,10,11,12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 2x2= 21 11 x 6 = 41 9x11=
2 11x1= 22 7%x5= 42 7x7= Time taken
3 11x7= 23 12x11= 43 12 x 3=
- — 3 minute time limit &
4 6x7= 24 3x10= 44 12x6=
- E—— Score
5 11 x2 = 25 11 x 3 = 45 5x7=
6 3x10= 26 8x1= 46 7% 10 = 60
7 9x7= 27 11 x 4 = 47 8x5=
- E— What's your rock status?
8 4x2= 28 11x7= 48 4x10=
9 5%x9= 29 8 x 10 = 49 3Ix7 = < 18 correct in 3 mins
R I _— ) AZE BDAATD
10 12x9= 30 6x11 = 50 7 x 10 = 18-19 correct in 3 mins
11 4x11 = 31 8 x 12 = 51 3x 4= 20-21 correct in 3 mins
T KR
12 5x7= 32 10 x 10 = 52 8x 8= 22-24 correct in 3 mins
UNAAGNED ALT
13 11x1= 33 11x7 = 53 10x 7 = 25-29 correct in 3 mins
BRUAKTHROUGH ARTIT
14 5x11= 34 7x12= 54 11x11= 30-35 correct in 3 mins
JUPPORT ACT
15 7%x2= 35 8x2= 55 6x8= 36-44 correct in 3 mins
HEADUINER
16 5%x 9= 36 12 x 12 = 56 7%x9= 45-59 correct in 3 mins
- - T RodisTAR
17 3x10= 37 9x6= 57 4%x8= All correct in < 3mins
Ko<k LEGEND
18 8x12= 38 6%x9= 58 4%x7 = All correct in < 2min
19 5x9= 39 12 x9 = 59 10 X 2 = All correct in < 1 min
20 4x9= 40 6x8= 60 5X6= ’
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2,3,4,5,6,7,8,9,10,11,12

Times Tables

Week 3 Session 2
2019-20

Year 5 Summer (2)
5 a week

9

Name:
Times Tables
Rock Stars
Licensed to St Denys Primary School

1 13
12 | 12

2 14
11 | 77

3 15
9| 54

4 16
6| 18

5 17
7| 56

6 18
11 | 99

7 19
8| 16

8 20
3| 12

9 21
6| 48

10 22
2 2

11 23
4| 20

12 24
6| 42

54

72

24

22

90

42

12

20

14

54

63

56

25

26

27

28

29

30

31

32

33

34

35

36

37

10 [110 8
38

8| 80 6
39

6| 24 2
40

10/ 10 3
41

5] 60 2
42

5| 25 2
43

11 11 11
44

12 [120 7
45

11| 66 3
46

10| 90 5
47

6| 6 12
48

3] 12 8
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72

18

16

96

56

49

50

51

52

53

54

55

56

57

58

59

60

7W

Time taken

10@

3 minute time limit &

Score
2 6
60
71 49
What's your rock status?
5| 55
< 18 correct in 3 mins
SARAGE RoO<KER
2 4 18-19 correct in 3 mins
20-21 correct in 3 mins
9| 45  4I44ER
22-24 correct in 3 mins
25-29 correct in 3 mins
3 21 T ‘/ LIS ATLZLT ATS p ==
BRTARTHROUGH ARTIZT
30-35 correct in 3 mins
10 60 36-44 correct in 3 mins
HEADUNER
45-59 correct in 3 mins
630 RKodk 2TAR
All correct in < 3mins
o<k LEGEND
All correct in < 2min
9108 ..
All correctin = 1 min




Name: Week 3 Session 3

Times Tables 2,3’4,5’6,7’8,9’ 10,11’ 12 2019-20
. Year 5 Summer (2)
Rock Stars Times Tables 5 3 week
Licensed to St Denys Primary School
1 6 13 3 25 11 37 9 49 5
x 9 X 12 X 4 X 4 x 10
- . o . . Time taken
2 8 14 11 26 10 38 9 50 3
X 12 x 1 X 2 X 9 x 1
3 minute time limit &
3 12 15 4 27 2 39 3 51 2 Score
X 12 x 11 X 3 X 12 X 6
4 4 16 11 28 3 40 12 52 / 60
x 10 X 4 X 3 X 2 X 7
What's your rock status?
5 11 17 7 29 6 41 4 53 9
X 6 X 4 X 8 X 8 X 2
< 18 correct in 3 mins
6 3 18 12 30 8 42 9 54 10 CADACE DodkEn
X9 x1 X 8 x 7 X3 CARAGE RO Iﬁ‘Eﬁ
18-19 correct in 3 mins
7 12 19 12 31 5 43 9 55 9 20-21 correct in 3 mins
X 8 X3 X 3 x5 x 1 2L LED
G44ER
- - - 22-24 correct in 3 mins
g 8 20 9 32 3 4 10 sg 11 UNFSNED A<T
X1 X5 X 8 X 6 X5 25-29 correct in 3 mins
BACATHROUGH ARTIZT
30-35 correct in 3 mins
9 3 21 2 33 10 45 4 57 5 SIDDADT AdT
X 2 x 3 x 10 X7 x 1 FUPPORT.
36-44 correct in 3 mins
T o o HEADUINER
10 4 22 11 34 8 46 7 58 2 45-59 correct in 3 mins
X 3 X 5 X 2 x 7 x 7 Adle A
o<k #TAR
[ - - . o All correct in < 3mins
11 12 23 6 33 9 a7 2 59 10 Ko<k LEGEND
X 3 x 1 X 9 X 6 x 10 All correct in < 2min
All correct in < 1 min
12 8 24 11 36 9 48 2 60 8 o
X 3 X 2 x 11 X 8 X 6 TUIES TABLES
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Name: Week 3 Session 4

. Year 5 Summer (2)
Rock Stars Times Tables 5 a week
Licensed to St Denys Primary School
i 49 +7 = 21 120+10= 41 4+4=
2 81:9= 22 56+7= 2 72:6= Time taken
3 35 -5 = 23 63 +9 = 43 70 =7 =
—_— — — 3 minute time limit &
4 72 +12 = 24 132+12= 44 5+5=
— - - Score
5 4 +4= 25 42 + 7 = 45 8+8=
6 72+12= 26 84+12= 46 49+ 7= 60
7 8+4= 27 96 + 12 = 47 9+9=
—_— E— E— What's your rock status?
8 21 +7= 28 77+ 11 = 48 18+9=
9 55 + 5 = 29 18 + 9 = 49 81 +9 = < 18 correct in 3 mins
10 96 + 8 = 30 10+ 5 = 50 50 + 5 = 18-19 correct in 3 mins
11 30+ 3 = 31 72 + 12 = 51 72 ~ 6= 20-21 correct in 3 mins
T B T 4K&ER
12 28 + 7 = 32 12 + 6 = 52 30+ 6 = 22-24 correct in 3 mins
T o T UNKND AT
13 110 +10 = 33 120+12 = 53 44 + 4 = 25-29 correct in 3 mins
BRIAKTHROUGH ARTIST
14 96 + 8 = 34 60 ~ 6 = 54 24 ~ 4 = 30-35 correct in 3 mins
15 77 = 7 = 35 44 = 11 = 55 12 +2 = 36-44 correct in 3 mins
HEADUNER
16 45 + 5 = 36 56 + 8 = 56 2+2= 45-59 correct in 3 mins
- -  RodhoTaR
17 36 ~ 12 = 37 55 + 11 = 57 24 =3 = All correct in < 3mins
- - T RO LGN
18 72 + 9= 38 12 +3 = 58 9+3= All correct in = 2min
19 72 -9 = 39 110+ 10 = 59 14 + 2 = All correctin = 1 min
TG TABLEY
20 8+2= 40 60 ~ 12 = 60 44 + 4 = /
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Name:

Times Tables
Rock Stars

2,3,4,5,6,7,8,9,10,11,12
Times Tables

Week 3 Session 5
2019-20

Year 5 Summer (2)
5 a week

Licensed to St Denys Primary School

1

10

11

12

13

14

15

16

17

18

19

20

5% 4=

3x5=

6x7=

5x4=

6 x10 =

12 x9 =

12 x5=

4x6=

5x3=

10x9 =

7%x2=

7x4=

7x8=

8x1=

7x5=

12 x 8 =

3x12 =

2x1=

12x9=

10 x 9 =

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

5x8=7 41
2x10=7 42
11><12=7 43
12x2=7 44

3x4=7 45
2x10=7 46
9X11=7 47
8x4=7 48
12x8=7 49

5X1=7 50
64+8= 51

2+2=7 52
72+9=7 53

2+2=7 54
66+11=7 55

120+12=7 56
99+11=7 57

72+8=7 58
80+8= 59

5+5= 60

©Maths Circle Ltd 2020

90 + 10 =

90 + 10 =

64 + 8 =

36 + 12 =

88 +11 =

144 + 12 =

42 + 6 =

110+ 10 =

8+8=

55+ 11 =

40 + 5=

45+ 9 =

100 + 10 =

44 + 11 =

50+ 5=

10+5=

80 + 8 =

12 +-3 =

99 + 9 =

Time taken

3 minute time limit &

Score

60

Add up your time

Mins
S1
S2
S3
S4
S5

Total

Secs
S1
S2
S3
sS4
S5

Total

Add up your score
S1
S2
S3
S4
S5

Total
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